AL E

= 5% N RIFTHEEZL !
1000 A H1250 A ?
4ONFION? 2
4ANFHIAN? 2 ?

= FL25%TY,

AR DIEHERERE

+ 1o [PA=D) pe-p) |
|\p 1.96. = ,p+1.96 o ]

s NOHRDpIERHMEOT, HEMBED p TEEHRRS

CONFIDENCER§ %
= CONFIDENCE(« REFEAR

EE A0 ERT AHBEKELIEEL
HehFEd. 2FY, «

—SHEE R T SR EEHOREREZIEELFT .
NiE, BERMTHIERESNET .

= BAYEEELET .

HEENEDEHERE

0.25% il &L= X
= (0.25 +C) TR
» X ERERSW CEDXFREZSD
= 950 SRR fE &1
= RREIOIEAENFEEEBEE LS
= REDIEDRE S EE

X EFEE (k)

= J0AHI0A
BRELEE 5=10/40=025

CONFIDENCE 8 % o 1 F 51

“ONFIDENCE(0.05
5% =38 X

).69291

By A
YREL

= 30 KYHp, Hi,
0.05 &Y/PSLY

EHEDEFERE

X, oo Xy ~N(u, 0%

- X+ X /
Fem——m~N(p, 0% /n )

BRE| X-1.96-Z X +19
\ n

[3FER0. BTHEH u 28T
()] B & &S5

2008/6/25




